





```
* Composite Functions: authority
  - f composed of g written as (f \circ g)(x) = f(g(x))
  - 9 composed of f written as (gof)(x) = g(f(x))
  Example: If f(x) = 3x + 3, g(x) = 8 - 2x. Find:
  f(x) = f(y(x)) = f(8-2x)
             = 3(8-2x) + 3
             = 24 - 6x + 3 = 27 - 6x
 2) (g \circ f)(x) = g(f(x)) = g(3x + 3)
             = 863433 = 8 - 2(3X + 3)
             = 8 - 6X - 6 = 2 - 6X
 3) (f \circ g)(2) = 27 - 6(2) = 27 - 12 = 15
(9 \circ f)(0) = 2 - 6(0) = 2 - 0 = 2
 =(g \circ f)(o) = g(f(o)) = g(3(o) + 3) = g(o + 3)
       =9(3)=8-2(3)=8-6=2
5) (f \circ f)(1) = f(f(1)) = f(3(1) + 3) = f(6)
          = 3(6) + 3 = 18 + 3 = 21
```